
3. Exchange economies with an Edgeworth box
(b) Graph the contract curve, the set of Pareto improvements, and the core

Endowments w
1. wA = (75, 25)
2. wB = (25, 25)

Preferences
1. Cobb-Douglas: uA(xA) = xA1 xA2
2. Perfect substitutes:
UB(xB) = xB1 + xB2
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Plug endowment point into the utility
function

55= 75.25=1875, 73=25+25=50

This gives
the equations for the indifference

cares

that intersect the endowment point:

50 =0c+OC
1875= xTscE

1875
=>scyB=50-scB

=E=-
say

Rewrite the second equation in terms of set and see

=(srect) =50-100
isa

A

The indifference arres intersect where these are equal

#10fYExcEFFS75,253
So they intersect at (5) and5). Note 125, 75) is

outsidethe Edgewath Box


